REVISIONS
[> notes m o
i 171472021 ] TLC
1. NON—IMPACT RESISTANT OPTION — .125" 4787721 T TLC
MINIMUM_DSB_GLAZING MEETS UNIFORM STATIC
DESIGN PRESSURES SHOWN ON THIS DRAWING.
GLAZING SHALL HAVE A MAXIMUM HEIGHT OF
6.70" AND A MAXIMUM LENGTH OF 24.00".
GLAZNG IS NOT IMPACT RESISTANT %D Goes
NOT MEET THE REQUIRI
WNDEGRNE DEBHS REGIONS, | 13 GA HORIZ ANGLE \
2. INPACT RESISTANT GLAZING OPTION —
INPACT RESISTANT GLAZING SYSTEM MAY BE
INSTALLED IN INTERMEDIATE SECTIONS (WMTH € DOOR |
OR WITHOUT/DEOORAHVE INSERTS). GLAZING
SHALL BE 1/4" POLYCARBONATE. MAXIMUM 5a 2
GLAZING DIMENSIONS SHALL BE 11° x 17, 15 GA MIN -H;TAK ]
FASTENED WITH A MINIMUM 48 X 1° SMS: 3X 1
ALONG THE HORIZONTAL AND 2X ALONG THE 13 GA CONTINUOUS =
. WALL ANGLE » _*
3. ALUMINUM_ FULL VIEW OPTION — ALUMINUM S ) p |
FULL VIEW SECTION MAY REPLACE ANY < i ) 11
SECTION EXCEPT TOP AND BOTTOM PANELS. 15 GA MIN_VERT , yi ] ol
ALUMINUM FULL VIEW SECTION SHALL HAVE TRACK N HPE hd <
RAILS AND STILES OF EXTRUDED ALUMINUM N - 3¢
ALLOY 6063—T6 AND .125" MINIMUM DSB H T
GLAZING INSTALLED WITH ALUMINUM 5/16"x1-5/8" — 20 GA CENTER STLE—" o)
RETAINERS IN ORDER TO MEET UNIFORM LAG SCREW AT EACH I a 3 °
STATIC DESIGN PRESSURES SHOWN ON THIS HOLE LOCATION FOR o H -
DRAWING. AFV PANEL SIZE IS 45.5°x21.9" WOOD SUBSTRATE. SEE H
(MAX). GLAZING IS NOT mch RESISTANT SHEET 3 FOR MOUNTING P N U
AND DOES NOT MEET THE REQUIREMENTS FOR TO OTHER SUBSTRATES. , y
WIND_BORNE DEBRIS. REGIORS. {
4. MINIMUM OF 1" OVERLAP ON BOTH JAMBS ", / o
REQUIRED TO MEET NEGATIVE DESIGN LT
PRESSURES. 1/4—20x9/16" TRACK 1 'O
5. SLIDE LOCK OR OPERATOR REQUIRED. BO'ﬁETA'ﬂ K&Z%Jg I s D - ES
6. SECTION STEEL TO HAVE THE FOLLOWING CLIP LOCATION — 20 GA_WOOD FILLED : HEET
MINIMUM_THICKNESS: (SEE DETAIL A SHEET 3) END STILE . £ o
421, 423 — 20 GA H TYP
427, 420 - 24 GA _/ :
434, 436 - 25 GA 11 GA TRACK CLIPS 7l
(WELDED, BOLTED, OR
LIEISeL e S e s '
ANGLE) SEE NOTE 8 AND r}
RESPONSBILITY OF THE PROFESSIONAL oF $
RECORD FOR THE BUILDING OR STRI DETAIL F SHEET 3 i Yy
AND N ACGORDANGE WITH CRRENT BUNDING SUDE LOCK ONE END— || .
CODES FOR THE LOADS LISTED ON THIS (NOT REQUIRED WITH 1 0
DRAWING. OPERATOR — SEE NOTE 5) H o L9 |
8. TRACK CLIPS SHALL BE LOCATED WITH
CENTERLINE OF BOTTOM CLIP SPACED 10° 9,
MAX FROM BOTTOM OF TRACK AND REMAINING v °
TRACK CLIPS SPACED AT : 24" 0.C. MAX. H -
SPACING BETWEEN TOP TRACK CLIP AND H y
SPLICE PLATE SHALL BE 30" O.C. MAX. U
9. WHEN MOUNTING TO WOOD, DOOR JAMB TO =>
BE MINIMUM 2x6 STRUCTURAL GRADE LUMBER. <L
REFER TO JAMB CONNECTION SUPPLEMENT s
FOR ATTACHMENT TO SUPPORTING A
STRUCTURE. S -
NOTE:  (4) SEc110N souu DOOR i A
SHOWN. SEE SHEE' R U-BAR H H Y]
LOCATIONS ON DOORS WITH OTHER H H Lo
SUPERIMPOSED DESIGN PRESSURE SECTION QUANTITIES AND SEE NOTES A ﬁ ; o
LOADS ON SUPPORTING STRUCTURE 1O'P'|21Oa:453 OF THIS SHEET FOR GLAZING W ;
MAX | DOOR | MAX UNIFORM LOAD EACH JAMB ) 1 : N\,
DOOR | egHT (PLF) i Tl
WDTH {
14'-2"| ALL +143.1/-160.8 \
g
- ,‘E OF TE Digitally signed
= L ORTIIIIIITI * by John Christian
'
Pt ﬂ |st|an Voelkel

STATIC PRESSURE RATINGS

APPROVED SIZES

DESIGN PRESSURE(PSF): +20.2/-22.7

MAX WIDTH: 14'-2"

MAX HEIGHT: 24'—1"

IMPACT/CYCLIC RATED: YES

MAX SECTION HEIGHT: 24]

8

7 I

wgé:

Date: 2021.05.03
10:33:55-05'00"

TIE]RAVWM‘D

THE DOORS ARE DESIGNED AND MANUFACTURED TO COMPLY WITH THE 2018 IRC AND THE 2018 IBC.

mmmmnrnvmmmmmmmumm
ANYDNE WITHOUT THE PRIDR WRITTEN CONSENT OF

Yisio s vias | OVER S00 +.008/-003
US. CUSTORARY
“REF VG| USED N | | il

TTHER T DRMATION TEREIN ARE THE
D DTN T4 HOLE DR TN AT NAYNCT. . COPIED. 1% AN MAANER. DR TESCHDSED Th DVEREAD (IR CORPERATION 6 DISCLONRE D
AN OF TS JAVING DR DETRMATIN 1§ INTENDED To CPERATE &S 4 LIEASE 0R AVHLRIZATION T0 U T FUR Y PURPD: VITHOIT THE SPECIFIC RITTEN CNNT (F OVERHEAD IR CORPORATI
m UMLESS OTHERVISE SPECIFIED FINISH | vie tiommine. The Civiginat. DATE
6 VHOLE i — l'Nu.DAn. OPTION CODE
TR 237 FIT| es + 25 N/A ; ™ Clark | 114721 RES #mw%esm/;wm,
TO 500 +006/-003 | x + 1 [UNIT OF | ™remns Checke) Bn 1/8/21 L
xx 03 J_QIAN g
. 03 | MEaSRE N/A a ' D- 411796
moes +5 | EA T CLARK | 42772l Eev—Wwa  [seil o3



chris
Texas


1/4—20x9/16" TRACK BOLT
AND 1/4—20 HEX NUT B
THROUGH THE SLOT IN THE 4
TRACK AND TRACK CLIP: i

12 GA COMMERCIAL TOP FRAME  /
BRACKET WITH 13 GA ROLLER |

CARRIER ATTACHED WITH (4)
1/4-14x7/8" SELF DRILLING
CRIMPTITE' SCREWS

ADD (2) 1/4—14x7/8" SELF
DRILUNG CRIMPTITE SCREWS
(INSIDE OF EACH INSIDE END HINGI

2" STEEL ROLLER WITH r
5-1/8" STEM AND 7/16" P
PUSHNUT AT EACH ROLLER /
LOCATION. 1/4" MAX i
BETWEEN PUSHNUT AND [
BRACKET OR HINGE :

13 GA WIDE BODY END
HINGES EACH ATTACHED

WTH (4) 1/4-14x7/8" SELF
DRILLING CRIMPTITE  SCREWS:

14 GA WIDE BODY
INTERMEDIATE HINGE
ATTACHED WITH (4)
1/4—14x7/8" SELF
DRILLING CRIMPTITE
SCREWS

12 GA BOTTOM BRACKET
ATTACHED WITH (3)
1/4—14x7/8" SELF DRILLING
CRIMPTITE SCREWS (2 THROUGH
STRUT AND BRACKET)

STATIC PRESSURE RATINGS

APPROVED SIZES

DESIGN PRESSURE(PSF): +20.2/—22.7 |MAX WIDTH: 14'-2

MAX HEIGHT: 24'—1"

IMPACT/CYCLIC RATED: YES

MAX SECTION HEIGHT: 241

HALF HINGE

2) 1/4 x 1/2"

1/4" FLANGE N
DETAL D
SN
Toxe OF TP,
Fouw e
* o % K
” :.o o...

(
CARRIAGE BOLTS AND

uTS

. ——(2) 1/4=14x7/8" SELF DRILLING
\ CRIMPTITE SCREWS

ATTACH U—BARS WITH
(2) 1/4—14x7/8" SELF

DRILLING CRIMPTITE SCREWS
AT ALL STILE LOCATIONS, TYP.

THE DRAVINGS AND ALL

AND
ANY DF THIS

b 133174 <o
WS, N33174 G2

8 7

& "--.oo"-.. AN
‘\\\SS/ONAL e

OTHER INFORMA!

(12) SECTION DOORS WITH:
(18) 3" 20 GA 80 KS| U-BARS
LOCATED AS SHOWN

(11) SECTION DOORS WITH
(17) 3" 20 GA 80 KSI U-BARS
LOCATED AS SHOWN

(10) SECTION DOORS WITH:
(15) 3" 20 GA 80 KSI U-BARS
LOCATED AS SHOWN

(9) SECTION DOORS WITH
(14) 3" 20 GA 80 KSI U-BARS
LOCATED AS SHOWN

(8) SECTION DOORS WITH
(12) 3" 20 GA 80 KSI U-BARS
LOCATED AS SHOWN

(7) SECTION DOORS WITH
(11) 3" 20 GA B0 KS| U-BARS
LOCATED AS SHOWN

(6) SECTION DOORS WITH
(9) 3° 20 GA 80 KSI U—BARS
LOCATED AS SHOWN

(5) SECTION DOORS WITH
(7) 3° 20 GA 80 KSI U-BARS
LOCATED AS SHOWN

(4) SECTION DOORS WITH
(6) 3" 20 GA 80 KSI U—BARS
LOCATED AS SHOWN

[N CONTAINED HEREIN ARE THE AND PROPRIETARY OF OVERHEAD DOOR CORPORATION AND ITS AFFILIA

COMPANIES.

Wi PROPERTY TED THIS DRAVING
INFORMATION, IN VHOLE DR IN PART, MAY NOT BE COPIED IN ANY MANNER OR TO ANYDNE VITHOUT THE PRIDR VRITTEN CONSENT OF OVERHEAD DOOR CORPORATION NO DISCLOSURE OF
IRAVING DR INFIRMATION IS INTENDED TO DPERATE AS A LICENSE DR AUTHIRIZATION TO USE IT FOR ANY PURPOSE VITHLUT THE SPECIFIC VRITTEN CONSENT [F OVERHEAD DODR CORPORATION.
T €xs FINISH | e toemutine. The Oiviginat [ DATE Wuﬁ N CODE 2031
g nia LEVISVLLE, PTIOI
N/ | iy A ME AR | 114721 IES 421/423/427/489/434/436,
2/-28.7 PSF, 14'-2" MAX
o e RIAN 18/2l e
N/A ‘APPROVED BV, &a D- 411796
€A T CLARK | 42772l G —7p  [saieo 3



chris
Texas


8 7 6 S 4 3 2 1
MIN 3/16" THICK RUBBER GASKET
STEEL FOR MOUNTING 1/8" ANNEALED DSB GLASS (MIN)
MOUNTING WALL ANGLE: £60XX MIN DLO= 5"X20"
TRACK CLIP
. OPTIONAL: WALL ANGLE MAY BE ATTACHED TO
1/4-20x9/16 SUPPORTING STEEL WITH MIN. (1) 1/4—20x7/8"
TRACK BOLT AND SELF DRILLING SCREW WITH 1” 0.D. WASHER AT
1/4-20 HEX NUT EACH HOLE OR PAIR OF HOLE LOCATIONS IN
TRACK LIEU OF WELDING
MOUNTING TO STEEL DETAIL
RUBBER FRAME GASKET
(NON—INSULATED DOORS)
s&ﬂ'x 1-5, LMI
wooo
S.IBS‘TRATE
FDAM TAPE :Rw"c WALL AN
BUTYL TAPE
a7 sapmea PLASTIC FRAME % oLT Ao
1/8” ANNEALED DSB GLASS (MIN) e
DLO= 5 3/4°X22 7/8" WOOD MOUNTING DETAIL — ANGIE QUT
(10) #8X2" SHEETMETAL SCREW
Lover o, Ran | (1) PER VERTICAL FRAME LEG
(1) PER HORIZONTAL FRAME LEG
23/4° 2 3/4
g IN DIST
UPPER INT, RAIL BLASTIC FRAME (INSULATED
/ WVITH 225° FIN
JOINT SEAL . Lﬂsgfm mn&w'r.gw
+ |/ ANGLE WITH 1/4—20 TRACK BOLT
AND 1/4~20 FLANGE NUT

N

FOAM TAPE

BUTYL TAPE

ALUMINUM FULL VIEW FRAME

ALUMINUM FULL VIEW FRAME

CONTINUOUS
WALL ANGLE

(2) 1/4 X 7/16,
SEMI TUBULAR
RIVITS OR (2) |
1/4"-20 TRACK \
BOLTS WITH NUTS*
OR (2) .28" DIA

RESISTANCE SPOT

LDS

STATIC PRESSURE RATINGS APPROVED SIZES

MAX WIDTH: 14'-2"
MAX HEIGHT: 24'—1"

DESIGN PRESSURE(PSF): +20.2/-22.7

IMPACT/CYCLIC RATED: YES MAX SECTION HEIGHT: 241

‘\\S\SIONR\_ F—“‘

133174

A"

3/8° SMPSON TITEN HD, 3/8" SINPSON TITEN HD,
2.3/8" N EUEED INTO 5;‘:/24' MN EMBED NTO
MN 2000 CONCRI
AT EACH Hi PAl AT WALL ANGLE FACING
OF HOLE LotkmoN——— OF HoLE wARD
MOUNTING WALL ANG
TRACK CLIP TRACK CUP
1/4-20x0/16" 2) 1/4-20x8/16"
Rasahs o
1/4-20 HEX NUT- 1/4-20 HEX NUT-
TRACK TRACK
CONCRETE _MOUNTING DETAL — ANGIE QUT CONCRFTE MOUNTING DFTAIl — ANGLE IN
MN 3/16° THICK
STEEL FOR MOUNTING

TPEMVWMBALLDTIERM \TIDN CONT/

N.]NVH].E[I!]NPART,HAYNDTEGBPIEBINMVHMIERRWTNM CONSENT OF OVERHEAD DOOR
INFORMATION MBMDTD[PERATEASALMISEIRMHHIR]ZATWNTDLBEHFIRMVHRPBIV‘IHMTHESPEW'CVW

AND INFDRMATIDI
ANY DF THIS DRAVING DR

MOUNTING WALL ANGLE-

cup -QPTIONAL: WALL ANGLE MAY BE ATTACHED TO
WO{W SUPPORTING STEEL WITH MIN. (1) 1/1-mx7/r

BOLT AND SELF DRILING SCREW WTH 17 0D, WASHER W
1/4-20 HEX NV PAR OF HOLE LOCATIONS IN
TRACK e or WeLowe

rwm:mmunmmummmm

AND PROPRIETARY PROPERTY.
WITHOUT THE PRIOR VRITTEN

COMPANIES.
MAT.IDN. NO nm.usun: OF
IIIISBIT I‘.IVERH DOOR

CORPORATION.
DATE
— INH.DAI'I, OPTION CODE
T CLARK 1/14/21 IES 421/ wm/qesnaum,
m 2/-28.7 PSF, 14'-2" MAX
J QIAN 1/8/21 o
T CLARK 4/27/20 5 N/A [se3 e 3



chris
Texas


		2021-05-03T10:33:55-0500
	John Christian Voelkel




